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1] public class Program

2 1{

3 public static void main(String[] args)

4 {

5 System.out.println("Hello");

6 }
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1] import java.util.*;
2 ||public class Program
3|
4 public static void main(String[] args)
5 {
6 String name = new Scanner(System.in).nextLine();
7 System.out.println("Hello " + name);
8 }
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1] public class Program
2 {
3 public static void main(String[] args)
4 {
5 System.out.println(2 * 5 + 6 / 8 - 7);
6 }
L7}
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1] import java.util.*;
2 |public class Program
3|4
4 public static void main(String[] args)
5 {
6 System.out.print("Enter a:");
7 int a = Integer.parseInt(new Scanner(System.in).nextLine());
8 System.out.println(a);
9 }
0]}
Enter a:12
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1] import java.util.*;
2 ||public class Program
31
4 public static void main(String[] args)
5 {
6 Scanner input = new Scanner(System.in);
7 System.out.print("Enter a, b:");
8 int a = Integer.parseInt(input.next());
9 int b = Integer.parseInt(input.next());
10 System.out.println(a + b);
11 }
12y
Enter a, b:10 20
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1] import java.util.*;
2 ||public class Program
31{
4 public static void main(String[] args)
5 {
6 System.out.print("Enter a:");
7 float a = Float.parseFloat(new Scanner(System.in).nextLine());
8 float b=a *a*a/ (a*a+a+1);
9 System.out.println(b);
10 }
11}
Enter a:10
9.009009
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1 ||import java.util.*;

2 ||public class Program

3|

4 public static void main(String[] args)

5 {

6 Scanner input = new Scanner(System.in);

7 System.out.print("Enter a, b, c:");

8 float a = Float.parseFloat(input.next());
9 float b = Float.parseFloat(input.next());
10 float ¢ = Float.parseFloat(input.next());
11 float ave = (a + b + ¢) / 3;

12 System.out.println(ave);

13 }

14|/}

Enter a, b, c:25 20 10
18.333334
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import java.util.*;
public class Program

{

public static void main(String[] args)

{
Scanner input = new Scanner(System.in);
System.out.print("Enter basel, height:");
float basel = Float.parseFloat(input.next());
float height = Float.parseFloat(input.next());
float area = basel * height;
System.out.println(area);




[ wJloddo puslao
12 }
13|}

Enter basel, height:10 20
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import java.util.*;
public class Program

public static void main(String[] args)

{

}

final float PI = 22.0f / 7.0f;

Scanner input = new Scanner(System.in);
System.out.print("Enter radius, height:");
float radius = Float.parseFloat(input.next());
float height = Float.parseFloat(input.next());
float volume = height * radius * radius * PI;

float area = 2 * PI * radius * height + 2 * PI * radius * radius;
System.out.printf("%1$s  %2$s" + "\r\n", volume, area);

Enter radius, height:10 20

6285.7144

1885.7142
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1 ||import java.util.*;
2 ||public class Program
31
4 public static void main(String[] args)
]
6 final float PI = 22.0f / 7.0f;
7 System.out.print("Enter radius:");
8 float radius = Float.parseFloat(new Scanner(System.in).nextLine());
9 float area = 4 * PI * radius * radius;
10 float volume = 4.0f / 3 * PI * radius * radius * radius;
11 System.out.printf("%1$s  %2$s" + "\r\n", volume, area);
12 }
13|}

ater' radius:10
4190.476 1257.1428
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import java.util.*;
public class Program

{

public static void main(String[] args)
{

final double L 950;

final double M = 3.0E-23;
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8 System.out.print("Enter w:");

9 double w = Double.parseDouble(new Scanner(System.in).nextLine());
10 double tedad = w * L / M;

11 System.out.println(tedad);

12 }

13|/}

Enter w:100
3.1666666666666664E27
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import java.util.*;
public class Program

{
public static void main(String[] args)
{
final double ss = 3.156E7;
System.out.print("Enter age:");
int age = Integer.parselInt(new Scanner(System.in).nextLine());
double second = age * ss;
System.out.println(second);
}
}

Enter age:51
1.60956E9
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1 ||{import java.util.*;
2 ||public class Program
3|
4 public static void main(String[] args)
5 {
6 System.out.print("Enter s:");
7 int s = Integer.parseInt(new Scanner(System.in).nextLine());
8 int b = s * 7 / 100;
9 int m=s * 10 / 100;
10 intp=s-b-m;
11 System.out.println(p);
12 }
13|}
Enter s:1000000
830000
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oLl A
?f_import java.util.*;
2 ||public class Program
3|4
4 public static void main(String[] args)
5 {
6 Scanner input = new Scanner(System.in);
7 System.out.print("Enter y1, y2:");
8 int y1 = Integer.parseInt(input.next());
9 int y2 = Integer.parseInt(input.next());
10 float t = (float)(y2 - y1) / yi;
11 float y3 = y2 + y2 * t;
112] System.out.println(y3);




13 }
14}
Enter y1, y2:10000000 15000000
2.25E7

W W19 (0 of (AT (0 C10 3 G980 Hlogi YDeeee dilalo 355 aaiio b &) (S5 i o N-1F Jle
9 35l Sguo ALOI CF pu 4 32 & i AVl (WS LS| aaio 2 G 4 w0 13.5 Sl &S
B0 PRI 1y I 9l conilgd 1) O g manadiin S 45 (5140l 9

gss )
.GJ\{ Jl]; pay B b 750000 )‘u\j.ﬂ .Y
ok islei |, "Enter tedad:" play ¥
.oy )‘_,5 tedad BE ca.\.ﬂ}s- Iy ijiam:n:‘.bﬁ £
sl extera s ws S awlows pay*12*tedad*13.5/100 Jse o b 1) 555 0 Lol S (glas 0 .0
EEY
ol Sislad | extera
oLt WY
1] import java.util.*;
2 |lpublic class Program
31
4 public static void main(String[] args)
> {
6 final int PAY = 750000;
7 System.out.print("Enter tedad:");
8 int tedad = Integer.parseInt(new Scanner(System.in).nextLine());
9 float extera = tedad * 12 * PAY * 13.5f / 100;
10 System.out.println(extera);
11 }
12))}
Enter tedad:50
6.075E7
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1||limport java.util.*;

2 ||public class Program

3K

4 public static void main(String[] args)

5 {

6 System.out.print("Enter num:");

7 int num = Integer.parseInt(new Scanner(System.in).nextLine());
8 int n1 = num % 10;

9 int n2 = num / 10;

10 System.out.printf("%1$s\t%2$s%3$s" + "\r\n", nl + n2, nl, n2);
11 }

12))}

Enter num:78
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oLt
?f_import java.util.*;
2 ||public class Program
3|
4 public static void main(String[] args)
5 {
6 System.out.print("Enter kg:");
7 int kg = Integer.parseInt(new Scanner(System.in).nextLine());
8 int g = 1000 * kg;
9 System.out.println(g);
10 }
1))}
Enter kg:1000
122000
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import java.util.*;
public class Program

{

public static void main(String[] args)

{
System.out.print("Enter salary:");
int salary = Integer.parselnt(new Scanner(System.in).nextLine());

int reward = salary * 15 / 100;
System.out.println(reward);

}
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Enter salary:1000000
1500000
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jf_import java.util.*;
2 |public class Program
3|4
4 public static void main(String[] args)
5 {
6 Scanner input = new Scanner(System.in);
7 System.out.print("Enter x, y:");
8 int x = Integer.parseInt(input.next());
9 int y = Integer.parseInt(input.next());
10 int s = x *y / 2;
11 System.out.println(s);
12 }
13|}

E;fer X, y:100 150
7500
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1] import java.util.*;
2 ||public class Program
3|
4 |lpublic static void main(String[] args)
5 ¢
6 Scanner input = new Scanner(System.in);
7 System.out.print("Enter a, b:");
8 int a = Integer.parseInt(input.next());
9 int b = Integer.parseInt(input.next());
10 System.out.printf("%1$s + %2$s = %3%$s" + "\r\n", a, b, a + b);
11 System.out.printf("%1$s - %2$s = %3%$s" + "\r\n", a, b, a - b);
12 System.out.printf("%1$s * %2$s = %3%$s" + "\r\n", a, b, a * b);
13 System.out.printf("%1$s / %2$s = %3%$s" + "\r\n", a, b, a / b);
14 System.out.printf("%1$s %% %2$s = %3%$s" + "\r\n", a, b, a % b);
16 }
17|}y
Enter a, b:100 150
100 + 150 = 250
100 - 150 = -50
100 * 150 = 15000
100 / 150 = ©
100 % 150 = 100
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import java.util.*;
public class Program

{

public static void main(String[] args)

{

System.out.print("Enter x:");
int x = Integer.parseInt(new Scanner(System.in).nextLine());

float y = 1.0f / (x * x + x + 1);
System.out.println(y);
}
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}

E;fer x:10
0.009009009
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o Shlai |y "Enter a:" play £
Ol 15 (a) ok > 0
oy ﬂ}(j\;b)v);‘a;;g\.,’b (C,.Ajl:ueiéi)\iﬁ)l" *a
.O—«U.u,i._:’u‘)v .Y
oLl A
?f_import java.util.*;
2 ||public class Program
3|
4 public static void main(String[] args)
5 {
6 Scanner input = new Scanner(System.in);
7 System.out.print("Enter r, a:");
8 int r = Integer.parselInt(input.next());
9 int a = Integer.parselInt(input.next());
10 int v=r*a;
11 System.out.println(v);
12 }
13|}

Enter r, a:100 150
15000



